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LICENSING PROBABILISTIC PATENTS AND LIABILITY
RULES: THE DUOPOLY CASE

M.H. VARGAS

ABSTRACT. In a market with two homogeneous firms that compete in quanti-
ties (Cournot), one firm gets a patented cost reduction innovation. Under this
scenario the patent holder has the option to license or not this innovation to
the other firm. On the other side, the incumbent firm (without the patent)
could be continuing with the backstop technology, could be an infringer of the
patent or if a license is offered for the patent holder could become a licensee.

When the property rights are probabilistic, injunctions and damage pay-
ments play a fundamental role in the interaction between the patent holder
and the incumbent firm. Two damage rules are commonly used in the courts
to determine the size of the damage payment: Lost Profits and Unjust Enrich-
ment.

In this paper a dynamic game is developed to compare lost profits (LP)
against unjust enrichment (UE), It’s assumed that the lifetime of innovation is
short enough for injunctions not to be important for the players (patent holder
and incumbent firm).

The results show that UE is at least as good as the LP rule from the point
of view of the welfare. Under UE no licensing is chosen by the patent holder
and infringement is chosen by the incumbent firm . Under the LP rule and
small innovations is observable the same situation as in UE however if the
innovation is enough big, Licensing is chosen by the patent holder and the
incumbent firm.

1. INTRODUCTION

Once a researcher gets an innovation and obtains a patent, this patent becomes
in a right to sue infringers, under the charges of unauthorized use of a property
right, as was noted in the early literature (Lemley and Shapiro 2005) patents are
not ironclad rights, instead could considered them as probabilistic rights (Encauoa
and Laffouni).

Is well known that sometimes the patent holder decides to share the property
right with others (licensing), a license is a settlement that permits to a third part
uses the innovation in exchange of a pecuniary payment, commonly are used: Fixed
fees, royalty rates and auctions.

In this context is natural to ask :

(1) Which is the best mechanism used for the patent holder to give licenses?
(fixed fees, royalty rates, autions, and so on).

(2) How many licenses the patent holder will offer? (maybe no one).

(3) How much the patent holder can ask for his innovation? (depends on the
threat points)
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(4) How much this responses changes when the patent holder is a firm inside
the market or just an inventor?

(5) How the industry’s structure and the kind of competition affect the results?
(monopolist /oligopolist /perfect competition)

There is a huge literature that have analyzed this questions under ironclad prop-
erty rights, the common approach used has been game theory. In this approach the
patent holder and one or several incumbent firms are players in a dynamic game of
three stages: At the first stage of the game, the patent holder decides how much
ask for the licenses and how many licenses he will offer. At the second stage the
incumbents or potential licensees decide to get the license of continues using the
backstop technology . Finally in the last stage, firms choose quantities (Cournout
competition) 2.

However, uncertainty over the property rights plays a important role in licensing,
because under probabilistic property rights potential users of the innovation could
decide infringe the patent if the patent strength is not so high. Also, this fact will
change the threat points of the bargain between the patent holder and the other
firms, when the patent holder wants to sell and the potential licensees want to buy
a license.

If incumbent firms decide infringe the patent, the patent holder can enforce the
property rights by using the legal system, in this arena the patent holder needs to
prove infringement and if the patent holder is successful in to prove infringement,
the court can authorize the pay of damages, in such way that the patent holder will
be compensated by the infringement. The court could use also extra payments as
three times damages i.e. or add injunction order®.

Commonly are used two damage rules: Lost Profits (LP) and Unjust Enrichment
(UE). Both of then try to compensate the patent holder using a profile scenario of
no infringement, where the LP rule calculate damages comparing the profit of the
patent holder and the UE rule makes the same but instead compare the profits of
the infringer.

This article wants to study the relationship between damage rules and licensing,
given that some recent articles have concluded that (LP) and (UE) rules do not deter
infringement *, licensing probabilistic patents clearly becomes different compared
with the licensing of ironclad patents in the early literature.

This article is divided in several sections, in the section two is established the
set up and is defined the licensing game, sections three, four and five are devoted
to solve the game, section six gives a comparative welfare analysis between (LP)
and (UE), the section seven gives conclusions and important remarks of this article
and finally detailed proofs are showed in an appendix.

2. THE SET UP

Lets consider a situation called two-supplier world in which there are two sup-
pliers of a product: firm 1 and firm 2. Both firms produced the same good under a
fixed marginal cost C, then the cost function is f(Q;) = CQ; where 0 < C' < A < o0
and @Q; is the quantity offered by the firm i = 1, 2.

IThe best technology available without the use of the innovation

2see [4] and [5] for a survey about licensing games under ironclad rights
3In this case the infringer needs to stop the infringement action

4see [1] and [3]
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The firm 1 (Patent Holder) gets a patented cost reduction innovation that reduces
the cost from C to C — ¢, where 0 < € < C' and the patent holder has the option to
license this technology to the firm 2 (the incumbent firm), by using a fixed fee or a
royalty rate.

A licensing game consists of three stages. In the first stage the firm 1 decides to
license (1) or do not (n) the innovation, if decides licensing, it is established a fixed
fee (F) or a royalty rate(R). In the second stage the firm 2 decides between three
alternatives: 1) accept the offer of the patent holder (£); 2) reject the offer and
use the backstop technology (N') and 3) Infringe the patent (Z) (see figure below).
Finally the firms decide the quantities offered the market.

FI1GURE 1. Extensive game form the first and second stages

In the last stage the two firms compete ala Cournot and face a inverse linear
demand P = A — @, where QQ = Q1 + Q- is the total quantity offered by the two
firms,and @1, Q2 are the quantities produced by the patent holder (firm 1) and the
incumbent firm (firm 2) respectively.

This is a game of complete information, then if the firm 2 infringes the patent,
the firm 1 will be aware of that and will try to enforces its rights in a court, where is
assumed that the firm 1 has the common knowledge probability 6 € (0, 1) of success
in the sue and if this happens the firm 2 will pay damages by D °. Is assumed also
that when the court determines the pay of damages this payments are calculated
always by the same rule (LP or UE). However in the case of licensing the patent
holder will ask for a fixed fee F' > 0 or a royalty rate R but not both of them, in
consequence the case of F' < 0 and R > 0 is not analyzed.

Without loss of generality, when II; is denoted the profit on the firm i = 1,2
the expression m; = II;/(A — C)? is the profit normalized by (A — C)? in analog
way ¢ = Qi/(A—C),y=¢/(A-C), f=F/(A-C)? and r = R/(A— C). This
article will use extensive the terms 7;, ¢; , v, f and r, this way could be considered
equivalent to set A =1 and C' = 0 also.

The concept used for solve this game will be Sub-Game Perfect Nash Equilibrium
(SPNE), that is a backward solution method where the complete solution is a Nash
Equilibrium (NE) at each stage of the game, the next section calculates different
Nash Equilibriums in the quantity competition stage.

3. COMPETITION STAGE

Given a defined rule for the calculations of damages (LP or UE), a level of
technology chosen by the incumbent firm (N, B, £) and a licensing policy defined

5An injunction order could be considered, but we assume that the lifetime of innovation is
enough small for injunction orders have no impact in the payoffs of the players
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by the patent holder (to offer or not a license to the incumbent firm by using a
fixed fee or royalty rate), both firms compete by choosing quantities.

At the case when the firm 2 decides to use the backstop technology (N), the NE
is

1+ 2y . 1—
1) ¢¥= 3 f0<y<l o [ 227 ifo<y<1
@ = 14y ) 14y = 3 )
— if 1 <# 0 ifl1<xw

and the following payoffs are obtaining for the firms 1 and 2.

14 2v\?
< +7) if0<y<1 1-7\2
N _ 3 N —_— ifo<y<1
™ = 14 2 3Ty = 3

As was noted for the early literature [2] big innovations could permit to the
patent holder to reduce the price till levels below the competitive prices, meaning
that just the patent holder can remain in the market, this kind of innovations are
called drastic. In this particular setup an innovation is non drastic if 0 < v < 1
and is defined drastic if v > 1. By looking in the eq. (1) is straightforward
to understand why if v > 1, this cost reduction is drastic enough for convert a
duopoly in a monopoly situation.

A more complex situation emerges when the firm 2 infringes the patent, given
that this is a game of perfect information once infringement is played the patent
holder will try to enforce the property rights by suing the incumbent firm. It is
assumed too that if the patent holder is successful in the court, the court will ask
just for damages ©, in this case the profit functions are structurally as

B) m=0-q—-q@+7)q +0dq,q);m=1-q —q¢+7v)q —0d(q1,q2)

notice that the profit is based in two components (see eq.(3)), the first is the
part gained by the sales and the second part are the damage payments’, damages
could be calculated in different ways, the most common way to do it is using the
LP rule or the UE rule ®. LP and UE are based in a profile scenario, the scenario
of no infringement, the idea behind LP is to compensate the share of profit loss by
the patent holder caused by the infringement, and in the case of UE transfer the
share of the incumbent’s profit that is above its profit under no infringement to the
patent holder.

In this article Wf\/ are used as the profile profits, then in the case of LP the
damage payments are calculated as the loss profit of the firm 1 compared as the
situation of no infringement, then

(4) d*? = max {w{v -(1-q —q@+7aq,0}

6The case when the court choose a injunction order and no damage payments is broadly studied
in Shapiro (2008)

"Damages without the normalization by the factor are denoted as D and d = D/(A — C)?

8see Cotter et al for a complete analysis about damage rules.



LICENSING PROBABILISTIC PATENTS AND LIABILITY RULES: THE DUOPOLY CASE 5

and in the case of UE, the damages are calculated in base to excess of profit for
the firm 2 respect to its position without infringement, then

(5) AP =(1—q1 —qo +7)ga — 7}

The NE when damages are calculated by using the LP rule, and when the in-
cumbent firm decides to infringe the patent deserve a special treatment and here its
just showed some relevant results’, in equilibrium the firm 2 will offer the quantity

(6) = (1—9):1;%; it 0/(3 - 20) < ~

{qy if0 <y <6/(3—26)

A careful view in the profit expression of the firm 1 eq.(eqdam) shows that the
response functions for the patent holder is exactly the same as when the firm 2
uses the backstop technology (A), then when when qQI’LP = ¢} eq. ([7]), the
patent holder gets the same profit that in the situation of no infringement if 0 <
v < 60/(3 —26), in the words of Anton and Yao [1] the infringer acts as a Passive
Infringer, because the firm 1 cannot see the effects of the infringement cause on its
profit has not changed, and when qQI’m) > qé\[ the firm 2 acts as an Active Infringer
just when v > 6/(3 — 26), then by using the last result is straightforward to get the
payoffs for the case of damages calculated using the LP rule

1+27)7
( + if0 <~ <0/(3—20)

if0/(3—20) <~ <1

o) ()
o)1) e
+ ( J>r

if0 <~ <6/(3—20)

3 3
1 2 1+27)°
alEP = (;Z) 9( 37> if£0/(3-20) <y <1
1+7)\° 1++)° .
ST (Y f1<
(3—9) < 2 =y

and in the case when damage payments are calculated by using the UE rule the
payoffs become

interested readers cold see Anton and Yao [1]
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147 2 1—7 2 .
—_— -0 —— fo 1
TUE _ (3—9) ( 3 SRS
™ = 14~ 2
() 1<~y
3—6
®) T++\° 1 2
i - .
1— _— —_— f 1
e | 9)(3_9> +0< . ) 0 <~ <
7T2 = 1+7 2
1— _— if1<
a-9(353) ir1<4

When the patent holder decides offer a license by using a fixed fee (F) or a royalty
rate (R) and the incumbent firm decides to buy the license, the following payoffs
are obtained

1+7)\> T+7)\?
9) = (3’Y) +fimyl = (37) —f
and
1+y+r\? | 14+7-2r g 14+~ —2r\"
1 LR _ LR _
(10) (i < 3 > +r 3 ;o 3

where f = F/(A—C)? and r = R/(A - C).

4. TECHNOLOGY STAGE

In the second stage of the game the firm 2 have to decide among the technology
that will be used, three situations arise, the first one use the backstop technology
N, the second one is to use the new cost reduction innovation trough a licensee £
and at last to infringe the patent 7.

In this stage of the game the firm will take its decision by direct comparison of
the expected payoffs in each situation 75, & and 77, is expectable too that w5
and 77 differ depending on the rule used to calculate damages payments, the first

important result is summarized in the Lemma 1 below.

Lemma 1. If the courts calculates damages using the LP rule or the UE rule
N

7TQI >y .
The Lemma 1 says that that in any situation, infringement is always best than
uses the backstop technology for the incumbent firm, then in this case the liability
rules do not deter infringement, in the case of both rules (LP and UE) such result is
expected, because the damages are calculated as the loss profit of the patent holder
or the excess of profit of the infringer compared with them under a situation of no
infringement. Then if the patent holder is a neutral risk agent easily will realizes
that in expectation infringement gives at least the same profit as not infringe and
use the backstop technology, a more general proof of this fact could be find it in
Anton and Yao [1] for the case of Lost Profits rule and non-drastic innovations.
The Lemma 1 makes irrelevant the action N for the firm 2, but even due we
cannot order completely the actions of the firm 2, because we need to determine
the values of the profits under the license option that depends on a fixed fee or on
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a royalty rate, that for now are given. By using (9) and (10), is easy to see that for
a fixed fee the value that make license as good as infringe is

(1) r= ()

, notice too that if f is negative there is no positive fixed fee or royalty that
makes the license option as good as infringe. Then is straightforward to obtain
that in the case of lost profits

(12)

)(1—7) it0 <~ <6/(3—20)
N

3
2

9(1”7) i£0/(3-20) <~ <1
( 2

I~
|

ifl1<#

e
)
Sk

and in the case of UE

/\/-\/-\

>i
)

2 2 2
(1”) _<1_9)(1+7) —9<1_”> 0 <y<1
Uue 3 3—-6 3
(13) 7 = 1++\2 1+
R i

Unfortunately this expression is sometimes lower than zero, in particular
12— 50+ 6% —2,/(3 — 0)2(3 + 0)
6 — 70+ 02

Notice too that that is possible also define a minimum positive royalty rate that
makes license as good as infringement for the incumbent firm

Lemma 2. ius >0y = < 7y, where y; <1

(14) r=(1+7-3/nd)/2
in consequence when r > 0 if and only if f > 0, then we can stablish

Lemma 3. In the case of LP always exists a fized fee or royalty rate that makes
the action L as good as other actions for the incumbent firm, but in the case of UE
there is this fized fee or royalty rate just if v > ;.

5. LICENSING STAGE

It is supposed in the model that the patent holder gives a take it or leave it
offer to the incumbent firm, in the case of the fixed fee the patent holder gets

1
7T1£’]: = (;:7 + f then the maximum fixed fee that the patent holder can ask

is f = max{f,0}, by using the payoffs when the patent holder licenses by using a
fixed fee and when the incumbent firm buys the license are
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(15)
14~ 2 14~ 2 1=~ 2 .
crue 2( 3 ) —(1—9)(3_9 -0 3 ify1<y<1
T = 14~ 2 14~ 2
2( — —(1— _— ifv>1
(72) -a-0(35) if 7 >

for the case of UE rule and in the case of lost profits

2
(1) (120 (1=n r <0
3 3 3 3-20

1+)\2 14++\2 1429\ 0
16) 7EFEP _ ] 7\ v y "
(16) 3 5-9) "'\ 3 1= 39

14+~ 2 1+~ 2 147 2 .
2 — 0| —— fy>1
( 3 ) 35-0) "'\ 2 it
When the patent holder licenses trough a royalty rate, the royalty rate is chosen
in a way that maximizes the patent holder’s profits

LR <1—|—’y—|—7‘>2+r1—|—’y—2r
3 3

, if the patent holder hasn’t any restriction the equilibrium royalty rate will be

r = (14 v)/2 , however the patent holder just can choose a r inside the interval

[0, 7], where 7 = (14 —3+/77)/2 the in a consequence that in probabilistic patents

7% > 0, the patent holder will choose 7 = max {r, 0} '°.

Proposition 1. Licensing by a royalty rate is preferred than licensing by a fixed
fee for the patent holder for any positive fixed fee, 7T1L’R — 771L’F > 0.

The proposition above is very important because shows that the patent holder in
our particular setup will always license via royalty rates, its important also remark
that this result is obtained just in the case where licensing is affordable (Lemma 3),
in consequence is necessary now to know when the patent holder will offer a license,
this could be obtained for a direct comparison between the profit under licensing

Wf’R and the profit under no licensing 7.

When the UE rule is used by the court ﬂf’R’ug < ﬂlz,ug meaning that there is not
enough incentives for the patent holder for to offer a license, a similar situation is ob-
tained when LP rule is used but when the innovation is enough big licensing is prof-

0(3—20)+3/(B—022-0) _

18 — 156 + 462

itable for the patent holder, in particular when v >

LR.LP
’72; 771 >

Proposition 2. The patent holder will never license under UE (drastic or not)
a similar situation is obtained when LP rule is used but when the innovation is
enough big (1 < o < ) licensing is more profitable for the patent holder.

T,LP
7'('1 .

In the following graph is observable in dark the areas where the patent holder
offers a license payed by a royalty rate, notice that only big innovations and licensed
by using royalty rates when LP rule is used in the calculation of damage payments.

10The expressions for Trf’R and wf‘R are complex for be written explicitly, instead, implicit
expression where enough for get the results of this study
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6. CONCLUSIONS AND REMARKS

One work that is related with this work is the work of Wang [6], in this work he
analyzes the ironclad case, his results are sumarizes in three points:

(1) Under fixed-fee licensing, firm 1 will license its innovation to firm 2 if and
only if v < 2/3. In particular, firm 1 will become a monopoly when the
innovation is drastic.

(2) Under royalty licensing, firm 1 will license its innovation to firm 2 if the
innovation is non-drastic. In the case of a drastic innovation, firm 1 will
become a monopoly.

(3) With either a non-drastic or a drastic innovation, licensing by means of a
royalty is at least as good as licensing by means of a fee for the patent-
holding firm ( firm 1), and licensing by means of a fee is at least as good
as licensing by means of a royalty for consumers

our results show that

(1) Under fixed-fee licensing, firm 1 will never license its innovation to firm 2.
(2) Under royalty licensing, firm 1 will license its innovation to firm 2 if the
innovation is greater and just if the liability rule is LP.

The reason for this differences is consequence that liability rules and probabilis-
tic patents changes the threats points in the bargaining for licenses, in fact under
probabilistic rights the incumbent obtain a greater profit without licensing in com-
parison with the case of ironclad patents and no licensing.

For another part, the liability rules becomes a transfer system between the in-
fringer and the patent holder making in this way a more profitable infringement for
the infringer and for the patent holder.
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Appendix

Result 1. H1 = (A —C — Ql - QQ + E)Q1 and H2 = (A —C - Ql — QQ)QQ after
solving the f.o.c. of the problem we get the reaction functions defined as

(17)
p1 (Qa,€) = o2 v iy (Q2,€) = 5 ifo<~y<1
—igif if1< 0 if1<y

with that we get the following

142y .
f0<y<1 -~ F0<n<1
a9 =) B ;q;v:{g 10<1
5 if 1<~ 0 if 1 <~
then
(19)
A—C + 2 . A-C
QY = A 8 0 <y<1 'QJQV—{ ifo<y<1
—Ziif i£1< i<~y
and with that
2A —-2C
N A-tte ifo<y<1
(20 A T
_— if 1 <~
2
A+4+2C -
N i ‘ ifo<y<1
(21) P = A—i—g'—e .
2 if1<x
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(22)

A— 2\ 2

<C+e> ifo<y<1 A—C—e\®> .
v = 3 Y - ifo<~y<1
1 A_Cie 2 y s 3

(2> 1<y 0 if 1<

then the Total profit will be

A—C+2\% [A—C—e\* |
=TT 4V if0<vy<1
(23) ™ = 3 3

2
<A_20+6> if1<~

because the demand is linear we get that the consumer surplus is CSP = AQ —

Q?/2 — PQ = Q?/2 then

24 -2 2
Ny <3O+€> /2 if0<y<1
(24) CSPY = o
(A_C“> /2 i1 <~
2
then the welfare will be
(25)
2 2 2
<2A—2C'+€ /2+(A—C+26> +<A—C’—e> 0 <~y <1
TWN — 3 3 \ 3
(A_QC—'_G> /2_1_(14_204—6) if 1<~

O
Result 2. We will begin with the LP case I} = (A—C—Q1—Q2+¢)Q1+60D(Q1,Q2)
and Iy = (A—C — Q1 — Q2 + €)Q2 — 0D(Q1,Q2) in the case of lost profits
D(Q1,Q2) P = max {Hi””’ —(A=C—=Q1—Qz+€)Q1, o} at first if we assume
that D" > 0 in this case we get that

qer _ { 1=0(A-C-Q1-Q+)Q1 + OTIZEPif DEP >

(26) 1 (A-C—-Q1— Q2+ if DX =0
LP — (A—C—Q1—Q2+6)(Q2+9Q1)—9HZ’£P if D7 >0
27 (A_C_Ql_Q2+€)Q2 if DEP =0

then the reaction functions are more complex in this case then we just jump to
the equilibrium solution(see Anton and Yao for a complete study of this case)

(27)

A—C+2 A-C-—
e g*f f0<y<0/B3-20) # IO <y < 6/(3— 2
1 = — i@ = —

A—CHe o s0/3-20) 1-pd=Cre oy

3—-0 3-0
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2A —2
s % if0 <~ <0/(3—20)
(28) QY = A—C+e .
A+2C —
- i +(36 if0<~y<0/(3—0)
AXCIC9 ity 2 0/6-0)
then
(30)
A 2\’
<C+€) if0<y<6/(3-0)
A— A— 2
7“7 =< (1-90) ( C+€> +9( C+ 6) ifg/(3-0)<~y<1
(1-0) A— C’—|—e> A— C’—I—e> > 1
A— 2
( C+ 6)( > if0<~<0/(3-6)
iz P (A?’f;e) _9(‘42‘”6) ifo/3-0)<~<1
2 2
(Ag_C'g—i—e) —H(A_§+€) £y > 1
then the Total profit will be
(31)
A—C+2\> [A-C+2\ (A-C—
A-CH2e)\ C+ 2 C-e if0 <~ <0/(3-0)
3 , 3 3
A—
TTLP _ (2_9)( 3004—€> ifo/(3-6)<~y<1
A— 2
(2—9)(3_09'”) ify>1
then
2A — 2C 2
- o (3“) /2 if0<~<0/(3—20)
32 CSP-*=" =

A—C+He
3—-0

(-0

then the welfare will be

)

/2 ify > 0/(3—20)
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" (B o (A2 (A2 (202 s <o
TWHEP = ((2_9)A;f;6) /24 (2—0) (Ag_C;—e) ifo/(3—0) <~ -
Qz-@A;f;“j2p+42—m(Agfz“)z ify>1

O

Result 3. We will begin with the LP case IT; = (A—C—Q1—Q2+¢€)Q1+0D(Q1,Q2)
and Iy = (A—C — Q1 — Q2+ €)Q2 — 0D(Q1,Q2) in the case of unjust enrichment
D(Q1, Q)" = (A—C - Q1— Q2+ 6)Q2 — ITY

then in equilibrium

%vug:(l_G)A70+€
(34) a-cpe?
TUE _ €
2 3-0
and with that
A—C+e
TUE _ (o _
(3) Q= (2 - 0) 2
A+(2-6)(C—¢)
pTUE _
(36) 36
then
2 2
(1‘“0“) _0<A—C—6> 0 <~y <1
ZUE — 3-0 3
! A—C+e\? .
3.0 fryz1
(387) A—C+e\? A-C—e\?
1-0)( ——— 0| —— if 1
[z Ue _ ( )( 3-0 >2+ ( 3 ) o<y <
! B A—-C+e
_ o 2t i >
(1 9)( T3 > ify>1
then the Total profit will be
A—C+e\?
THHE = (2 -0) ( ———
(39) 2-0 (455
then
. 2
(39) CSPI’”€:<(2—9)3f6+6> /2

then the welfare will be
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@) TwIuE <(2_9)A;f;€>2/2+(2—9) (AQ_CH—H)Q

O
Result 4. In the case of a given Fixed fee we get that II} = (A —C — Q1 — Q2 +
€)Q1+ Fand Iy = (A - C — Q1 — Q2 + €)Q2 — F then in equilibrium

£7]:_A—C+6
1 - -

(41) £7F_A_%+6
S 3
and
A—C+e
42 £F =g
(12) Q -
A+2(C—¢)
4 per == =
(13) ;
HL’]:— (A—C+€>2+F
LF - ([ —1=
(44) A— zé’ +e)’
157 = () ~-F
3
then the Total profit will be
2
(45) TC’}-:2<A—C’—|—6>
3
then
2
(46) CSPEF =2 (Ag“)
then the welfare will be
2
(47) TWET — 4 (A_g""e)

(Il
Result 5. In the case of a given Royalty rate R we get that II; = (A—C — Q1 —
Q2+ €)Q1 +RQ2 and Il = (A — C — Q1 — Q2 + ¢ — R)Q5 then in equilibrium
LR _ A — C + € + R
LrR_- 75

3
(48) cr A—C%e—2R
2 T3
and
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QLR:Q(A—C—FE)—R

49
(49) 3
(50) P[:’R:A‘FQ(C*E)‘FR
3
qer_ (A=CtetR 2+RA—C+6—2R
(51) L 3 , 3
HZ:»Rf A—C+€—2R
2 3

then the Total profit will be

2 2
(52) TER _ <A—C+€+R) +RA—C+€—2R+<A—C+€—2R>

3 3 3
then
(53) CSPER — (Z(A_C; 9 _R>2/z
then the welfare will be
(54)
TWER _ <2(A—C’3+6)—R)2/2+(A—C;e+R>2+RA—C—;e—2R+(A—C—ge—2R>2

O

Proof Lemma 1. For the case under the LP rule, by using the equations (2) and

2
(7) and when v < 0/(3 — 20), 72 *7 = (1—;27) (1;7> > (1;7) =)

When 0/(3 —20) <~ <1,

14++\2 14+2v)\2 1—~\2
co == (LYo (L8] (152)

2

1 40 +1
3-0 9
because dG11/d0 = 2(3—0)72—4/9 < (2)72—4/9 < 0, G11 < 0 for € (0,1), then
G is concave in v for 6 € (0,1).

2
G(1,0) = <330> — 6, moreover Go(1,0) =8(3—60)"3 -1 <0 for 6 € (0,1),

, now notice that G1; = , because at # = 0 G711 = 0 and

9\ 2
G(1,0) = (3) and G(1,1) = 0 then by continuity G(1,6) > 0 for 8 € (0, 1).

G(0/(3 —26),0) = (3_129>2 -0 (3 _120>2 - <31_299)2 = (6;)(1_2:))2 >0
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because G is concave in v and G(0/(3 — 26),0),G(1,0) > 0, we conclude that
G>0fory>0/(3—260)and 6 € (0,1)

Now in the case when v > 1 is straightforward to prove that WQI’LP >=0.

In the UE case by using (8) and (2) for v < 1 we get that

1 2 1—~\? 1—~\2
- (1) () > (5) -

and in the case v > 1 we get that 7T2I’M£ >0
meaning that under the UE the incumbent firm always will prefer infringe the
patent over use the backstop technology.

O
1+7)\?
Lemma 2. f = T’y — 7}, notice too that if f is negative there is no positive
fixed fee or royalty that makes the license option as good as infringe.
Then in the case of UE we get that
(55)
A-— 2 A-— 2 A—C—¢\?
<C+6> _(1_9)<C+6> _9<C€> if0<~<1
FUE _ 3 , 3—-0 , 3
- A—C+e A—-C+e
— ) —-(1-0) —— if 1 <
(=) o0 (55)
then
2 2 2
1 1 1-—
(;7) —(1—9)(”) —9(5))7) if0<y<1
(56) fY¢ = -

1+7)° 1+ .
- — — P <
( 3 ) (1 9)(3 7 if1 <y

Unfortunately this expression is not greater that zero in all the cases, but is
straightforward to prove that iug > 0 if

12—-50+62—-2 —0)2 0
N 50 + V(B =0)2(3+6)

6 — 70+ 02
Now in the case of lost profits we get that
(57) ,
(1*37) _ (1227> (1_37) i£0 <~y <0/(3—20)
FEP = (H?)”)Z _ (;fg)Q 40 (1 227)2 it0/(3-20) <~ <1
()~ 5) e

Notice too that is straightforward to prove that f > 0 in this case, and in
consequence of the past results and because

r=(1+~-3y/n%)/2

, we got the lemma ([
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Proof Result 5. By remembering that

2
Hf’}_: <A_§H> + F

2
s’ = <A_§j+€> _F

(58)

and replacing

(59)

A—C+e\? A—C+e\? A—C—¢€\?

ATETE) g (AT (A= if 0 1
Hﬁ,f,uf_(A—C“): ( 3 ) “ 9)< 3—9> ( 3 ) ETE
. —

3 A—C+e\? [A—C+e\? A—C+e\’ ,
- - - - - - — (1= - - - <
( 3 ) +< 3 ) (1 9)( 3= ) if1 <+~

and
(60)
A—C+e A—C+e) A—C—e\?
_ if 0 1
HC,?,U&_(A—C+€)2_ ( ) ( 3—29 >+9( 3 2 mU<7<
2 - J—
3 (A C-l—e) ( 6) +(1_9)<A300—‘r6) 1<
1 2 1 1—7\?
LYY - L+\* (1= 0 <y <1
us 3 3—-0 3
o) =300 L NCe
— ) —(1- —_— if 1<
() s
O
1 2
Proof Proposition 1. In the case of royalties (see eq 10)we get that ﬂ"c R = <+;+T> +

1 _
ry this function reach the maximum when r is equal to (1 + 7)/2, but

because r = (147 —3+/7%)/2 and 71 “" and 77“¢ are greater than 0, we get that

r=r

now because
= (147 —3y/77)/2

R _ <<1+7>/z— \/75/2)2 (1 +7)/2 = 3y/nh/2)\/m}

PR = ((1+9)/2)° =5+ nd/4

we get that

then

we know that

= ((1+7)/3)* -

then
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R = ((14+7)/2)* = 5/4((1+)/3)* - F)
then

R = (1 +79)/2)° +5/4(=2% (1 +7)/3)* + 71F)
then we obtain that
mr R —mpF = (1+7)/2)% = 5/2((1+79)/3)2 + 717 /4
then in the case where f > 0

rr R =T > (L49)/2)7 = 5/2((1+7)/3) + 1/4((1 +7)/3)° =

Proof Proposition 2. first as we know

TR = ((1+7)/2)* = 5/4((1+7)/3)* - f)
then

T = (L+7)/3)” +5/4f
Now we first analyze the case of LP rule, then for the case 0 < v < /(3 — 26)
we get that fIF = (14++)2/9 — (14 27)(1 —7)/9
then
aREP = 9((149)/3)" /4 = 5/4((1 +2v)(1 = 4)/9)
then

ap P — PP = 9((1+7)/3)% /4 = 5/4((1 + 27)(1 — 7)/9) — (1 +27)?/9

then after some algebra

mp P — PP = —(3y +1797)/(3%2%) < 0
for the case 0 < v < /(3 — 26) we get that fL¥ = (1+~)%2/9— (1+2v)( -7)/9
for the case v > 1 we get that f1* = (1++)2/9—(1—7)?/(3—0)2+60(1+~)*/4

then

B ot

then

4

2
P e - A2 (L) s ((1-49)/(3 - 0)° 4-(1-0) (14 )/ — 0=

then

LLRLP _ TLP _ 14+~\% 6(62 — 20 +9) 0
! ! 2 2(3—0)2

1+7

2

y



